
Span 4b

Ready?

Word recall intervention
(alternative sentences)



There are 3 Christmas trees. 

55b. practice



He has a green watch.

56b. practice



The girl is skating.

57b. practice



Water is dripping from the tap.

58b. practice



?



trees
watch
skating
tap

Correct answer



?
What helps you 
remember the 

word?



Keep 
rehearsing.



The flowers are in the sun.

59b.



They are clowns.

60b.



She has lots of pancakes.

61b.



This is a toy ship.

62b.



?



The men are watching television.

63b.



He is wearing red boots.

64b.



The man is cooking.

65b.



The man is digging the garden.

66b.



?



He is looking at the clock.

67b.



The boy is holding the bottle. 

68b.



He is sitting in a chair.

69b.



The woman is sending a text.

70b.



?



The women are playing tennis.

71b.



She is picking strawberries.

72b.



The man is laughing. 

73b.



They are having breakfast.

74b.



?



They are sitting in a wheelchair.

75b.



She is holding her cow.

76b.



They are going on holiday.

77b.



He is in a taxi.

78b.



?



The boy has a lollipop.

79b.



These are potatoes.

80b.



He is a policeman.

81b.



This is a cheese sandwich.

82b



?



She is at the dentist.

83b.



The dog has a biscuit.

84b.



The woman is holding a teapot.

85b.



Here is some pasta.

86b.



?



What helps you 
remember the 

word?



Keep 
rehearsing.



She is working at the computer.

87b.



This is a brown frog.

88b.



The men are wearing skis.

89b.



They are playing in the sea.

90b.



?



End of Level 4b


